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Semester : 3rd
Subject Code : CT-302
SURVEYING -1 % z
Full Marks ~70 ™"
Time — Three hours

The figures in the margin indicate full marks
for the questions.

Instructions :
1. All questions of PART — A are compulsory.
2. Answer any five questions from PART — B.

PART - A
Marks — 25
1. Fill in the blanks : 1x10=10

(a) The difference of true meridian and magnetic
meridian is called

(b) In levelling, the first reading is taken on a
levelling staff kept on a
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The level was shifted after 3rd, S5th and 9th
readings. The R.L. of the bench mark was
150.456 m.

(a) Enter the readings in a level field book-form
and reduce the levels by height of instrument

~ method.
(b) Apply the arithmetic check. 9
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